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We will prove that the example: "‘lﬂ = {U: 14'(”'} has the property:
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Proof:

v"ln+1 — (Us lf{n—}— 1}}

Clearly, 1»'({” ik 1} < 1:"(”. And the lower bound is the same, so the first part Au+l C 'An
is TRUE.

Also, be neN, a, :(1;’{”)—}0 as n— oo (1)
Proof of (1): By definition Ve>03dneNVm2=n (ja,—0<e)

Be £2>0 arbitrary, we need to find an n such that " = T and janl<e
Pick 7 so large that 1/n<e

laml=01/m|=(1/m)<(1/n)<e

Hence, we proved that " €N @y = (1/1) =0 as n— o0
By (1) An=(0,1/n)—(0,0) as n =00
And (0:0) don'tinclude any value, so (0:0)=10

And, by intersection, 0 N B =10

(b
ﬂ A” =0
So the second part =1 is also TRUE.

Hence, the example has the property.



